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ASSIGNMENT-1-TRIGONOMETRY

. Derive the formula for cos(x +y) using the unit circle.

Ifcosx = _71 and x in third quadrant, find the values of other trigonometric functions.
If tan x = -; and x in second quadrant, find the values of sinx/2, cosx/2 and tan x/2

If sinx = %3 and x in quadrant III; find the values of sinx/2, cosx/2 and tan x/2

Prove that tan3xtan2xtanx = tan3x — tan 2x — tanx

Prove that cotxcot2x—cot2xcot3x —cot3xcotx =1

Prove that tan8A — tan7A — tanA = tan8A tan7A tanA
Prove that tan7x — tan 5x — tan 2x = tan 7X. tan 5X. tan 2x

1) sin( x +y) i1) cos(
. 4 -

b) If sinx = —, cosy = —,
) 5 y 13

1)cos(x+y) i1) co

Prove that 1 ii1) tan 70° = tan 20° + 2tan 50°
Prove

Find the val¥

Find the value of

: 0 | .
Evaluate: sin(1 8? +09) cos( : (2070 0)
sec” (90" + @) tan(—8¥81n(270" + )
0 _ 0o _ o
Evaluate: tan(90" — &) sec(180" — &) sin(—0)

sin(180° + @) cot(360° — @ )cos ec(90° — 6 )

cos(27 + ) cos ec(27 + 6) tan(% +0)

Evaluate:
sec(% +68)cos(2m —B)cot(rw +6)

Cosec(90+ ) + Cor(450+0)  Tan(180+6)+ Sec(180-6) _
Cosec(90—60) +tan(180—0)  Tan(360 + 6) — Sec(—6)

Prove that
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1) If tanA =k

ii) If sino = ksinp ; prove that tan(a;Bj _ k=l tan(OH Bj

Prove that:

tanB, show that sin( A +B ) = % sin(A-B)

k+1 2

i) (cosa +cosB) +(sine +sin B) = 4cos{¥j

1

ii) -

sinl0°  cosl(’
Find the value of : 1) sin75°cos15° + cos75°sin15° i1) co

Prove that

Cosl1°—Sinl1°

Prove that

V3 =4 1i1) \/2 ++/2+2cos4x = 2cosx

in17° - sin47°cos17°
ii1) cos42°cos12° + sin42°sin12°
1) Sin780° Sin120° + Cos240° Sin390° = Y5
i1) Sin600° Cos390° + Cos480° Sin150° =—1

= Tan34°

Cosl1°+ Sinl1°

Prove that Co
Iftan A =5/6

If TanA = —— , TanB =
x—1 2x —

s(45°— A ) Cos(45°—B ) — Sin(45
and tan B =1/11 prove t

in(45° — B) = Sin(A +

If A + B =45°, then prove that i tB-1)=2

If tan(A + B) = m and tan
i) tan2A = 222
1—mn
Evaluate : 1) Cos70° Cos

in(40° + 0) in(10° + 0)

1-6
) T .. RY/4 kY4 .
Prove that : 1) cos Z+x . =+/2cosx i1) cos T+x —Cos T—x =—/2sinx
.. cos7x+cosS5x ... c0S9x—cos5x sin 2x
Prove that : 1) — - = cotx 1) — - = -
sin 7x —sin Sx sinl17x —sin3x cos10x
.. sinS5x+sin3x . . sinx+sin3x
11l) ——— = tandx 1v) —— = tan2x
cos 5x + cos3x cos x + cos 3x
cos 4x + cos3x +cos2x .. SIn5x—2sin3x+sinx
- - - = cot3x Vi) =tanx
sin4x + sin3x +sin 2x CcOSSx —cosx

vii)

Sinx +sin3x +sin5x +sin 7x
= tan4dx

oS x +cos 3x + cos 5x +cos 7x




.... SINS5x+sin7x+sin9x+sinllx
viii) = tan8x
cosS5x+cos7x+cos9x+cosllx
sin3x +sin5x +sin 7x +sin9x

= tan6x
cos 3x + cos 5x + cos 7x + cos 9x
sin(x + y) —2sinx+sin(x—y) tanx
cos(x+ y)—2cos x +cos(x—y)
i) (cos X —cos 3x)(sm 8x +sin 2x) 1

(sin 5x — sin x )(cos 4x — cos 6x) -

a+pf ﬂ+7cosy+a
2 2

38. Prove that cosa + cosp + cosy + cos(a + B + ) = 4cos

39. Prove that 1) (cosx — cosy)2 + (sinx — siny)2 — 45t XY

i1) (cosx + cosy)2 + (sinx — siny)2 =4 cos? X"‘Ty

sin x sin 2x + sin 3xsin 6x cos8xcosSx—c

40. Prove that: 1) — - =tan5x - =tan4x
sin x cos2x + sin 3x cos6x Sin 8x cos 5x + cos
.... Sin&xcos x—sin 6xcos
111) - - — Sin Sxsin—
cos 2xcos x—sin3xsin 4x
=2 iii) sec” 2x = 1— tan2x

anx + tan2x + tan3x = tanxtan2xtan3x
48. Solve the following

i) cot’x + 3cosecx + sin2x +sin3x =0 iii) sin2x — sin4x + sin6x = 0

iv) tan’x + cot’x =2 cosec’x =4 vi) sin3x = sinx
vii) cos3x = sin2x U3 cos x +sinx =+/2
1 -1
49. Prove that: i) sin 36° =, ———— i) cos36° = £T+ iii)sin 18° = JET

50. Show that ——— + sin 3 + sin9x :l(tan27x—tanx)

cos3x cos9x cos27x 2




